

FINAL RESULTS

Project Number	Title	Firm(s) Selected	Date Posted	Department
ST83120047	27th Avenue & South Mountain Regional Basin DBB	Ames Construction, Inc.	8/14/2015	Street Transportation

FINAL BID RESULTS

Project No: ST83120047

Project Name: 27th Avenue & South Mountain Regional Basin DBB

Item No.	MAG No.	Description	Unit	Quantity	Engineers Unit Price	Total	Busing Unit Price	Total	Ames Unit Price	Total	Combs Unit Price	Total	Tiffany Unit Price	Total	Blucor Unit Price	Total	Redpoint Unit Price	Total	Blount Unit Price	Total	Low Mountain Unit Price	Total	Kirkland Unit Price	Total
1	107-1	ALLOWANCE FOR SWPPP PERMITS	Allow	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00
2	109-1	ALLOWANCE FOR EXTRA WORK	Allow	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
3	201-1	CLEARING AND GRUBBING	LS	1	\$30,000.00	\$30,000.00	\$70,000.00	\$70,000.00	\$20,000.00	\$20,000.00	\$210,000.00	\$210,000.00	\$17,480.00	\$17,480.00	\$122,500.00	\$122,500.00	\$45,300.00	\$45,300.00	\$55,257.80	\$55,257.80	\$7,348.12	\$7,348.12	\$75,000.00	\$75,000.00
4	215-1	BASIN EXCAVATION	CY	609,545	\$5.00	\$3,047,725.00	\$4.26	\$2,596,661.70	\$3.82	\$2,328,461.90	\$4.55	\$2,773,429.75	\$5.73	\$3,492,692.85	\$6.45	\$3,931,565.25	\$6.85	\$4,175,383.25	\$6.00	\$3,657,270.00	\$7.74	\$4,717,878.30	\$9.25	\$5,638,291.25
5	220-1	ROCK MULCH, (1-INCH - 3-INCH)	SY	13,602	\$7.50	\$102,015.00	\$10.50	\$142,821.00	\$5.30	\$72,090.60	\$5.00	\$68,010.00	\$12.25	\$166,624.50	\$8.25	\$112,216.50	\$12.00	\$163,224.00	\$12.50	\$170,025.00	\$4.58	\$62,297.16	\$5.00	\$68,010.00
6	220-2	PLAIN RIPRAP, D50=6-INCH	CY	935	\$60.00	\$56,100.00	\$70.00	\$65,450.00	\$116.00	\$108,460.00	\$85.00	\$79,475.00	\$151.00	\$141,185.00	\$60.00	\$56,100.00	\$76.00	\$71,060.00	\$140.00	\$130,900.00	\$87.01	\$81,354.35	\$85.00	\$79,475.00
7	220-3	GROUTED RIPRAP, D50=9-INCH	CY	72	\$90.00	\$6,480.00	\$150.00	\$10,800.00	\$169.00	\$12,168.00	\$125.00	\$9,000.00	\$165.00	\$11,880.00	\$128.00	\$9,216.00	\$159.00	\$11,448.00	\$187.00	\$13,464.00	\$133.41	\$9,605.52	\$130.00	\$9,360.00
8	220-4	1-1/4-INCH MINUS DECOMPOSED GRANITE INERT GROUND COVER	SY	48,896	\$3.75	\$183,360.00	\$5.00	\$244,480.00	\$5.00	\$244,480.00	\$3.75	\$183,360.00	\$4.50	\$220,032.00	\$3.80	\$185,804.80	\$7.00	\$342,272.00	\$6.00	\$293,376.00	\$4.18	\$204,385.28	\$4.00	\$195,584.00
9	220-5	3/4-INCH MINUS DECOMPOSED GRANITE INERT GROUND COVER	SY	28,430	\$3.00	\$85,290.00	\$3.75	\$106,612.50	\$4.60	\$130,778.00	\$3.50	\$99,505.00	\$3.10	\$88,133.00	\$2.60	\$73,918.00	\$4.00	\$113,720.00	\$5.50	\$156,365.00	\$3.86	\$109,739.80	\$4.00	\$113,720.00
10	220-6	1/4-INCH MINUS DECOMPOSED GRANITE MAINTENANCE ROAD SURFACE	SY	6,496	\$3.25	\$21,112.00	\$3.25	\$21,112.00	\$4.50	\$29,232.00	\$3.40	\$22,086.40	\$1.50	\$9,744.00	\$1.50	\$9,744.00	\$4.00	\$25,984.00	\$2.40	\$15,590.40	\$3.71	\$24,100.16	\$4.00	\$25,984.00
11	310-1	4" ABC	SY	6,496	\$4.25	\$27,608.00	\$4.50	\$29,232.00	\$6.00	\$38,976.00	\$5.00	\$32,480.00	\$5.50	\$35,728.00	\$3.00	\$19,488.00	\$4.00	\$25,984.00	\$5.00	\$32,480.00	\$3.78	\$24,554.88	\$4.50	\$29,232.00
12	340-1	DRIVEWAY ENTRANCE PER COP STD DET P1255-2	SF	352	\$10.00	\$3,520.00	\$6.50	\$2,288.00	\$27.00	\$9,504.00	\$12.00	\$4,224.00	\$10.00	\$3,520.00	\$11.15	\$3,924.80	\$8.00	\$2,816.00	\$16.00	\$5,632.00	\$7.26	\$2,555.52	\$7.00	\$2,464.00
13	350-1	SAWCUT AND REMOVE CURB AND GUTTER	LS	1	\$1,500.00	\$1,500.00	\$900.00	\$900.00	\$2,700.00	\$2,700.00	\$2,500.00	\$2,500.00	\$1,592.00	\$1,592.00	\$945.00	\$945.00	\$200.00	\$200.00	\$2,700.00	\$2,700.00	\$2,900.27	\$2,900.27	\$2,700.00	\$2,700.00
14	350-2	REMOVE 60-INCH STORM DRAIN PIPE PLUG	LS	1	\$1,000.00	\$1,000.00	\$5,500.00	\$5,500.00	\$282.00	\$282.00	\$700.00	\$700.00	\$942.00	\$942.00	\$750.00	\$750.00	\$1,100.00	\$1,100.00	\$1,650.00	\$1,650.00	\$928.09	\$928.09	\$5,400.00	\$5,400.00
15	350-3	REMOVE SRP CONCRETE IRRIGATION FIELD DRAIN INLET AND 18-INCH RGRCP	LS	1	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$2,700.00	\$2,700.00	\$500.00	\$500.00	\$1,712.00	\$1,712.00	\$650.00	\$650.00	\$300.00	\$300.00	\$4,300.00	\$4,300.00	\$4,176.39	\$4,176.39	\$5,500.00	\$5,500.00
16	350-4	REMOVE 16-INCH PVC PRIVATE IRRIGATION PIPE	LS	1	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$2,400.00	\$2,400.00	\$500.00	\$500.00	\$5,581.00	\$5,581.00	\$1,780.00	\$1,780.00	\$1,100.00	\$1,100.00	\$4,450.00	\$4,450.00	\$4,060.38	\$4,060.38	\$2,700.00	\$2,700.00
17	350-5	REMOVE AND REPLACE TRAFFIC REFLECTOR SIGN AND POST	EA	4	\$250.00	\$1,000.00	\$275.00	\$1,100.00	\$1,250.00	\$5,000.00	\$450.00	\$1,800.00	\$500.00	\$2,000.00	\$305.00	\$1,220.00	\$400.00	\$1,600.00	\$210.00	\$840.00	\$464.04	\$1,856.16	\$560.00	\$2,240.00
18	401-1	TRAFFIC CONTROL	LS	1	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$75,000.00	\$75,000.00	\$255,000.00	\$255,000.00	\$81,978.00	\$81,978.00	\$26,723.21	\$26,723.21	\$22,900.00	\$22,900.00	\$41,500.00	\$41,500.00	\$23,202.16	\$23,202.16	\$84,000.00	\$84,000.00
19	420-1	FENCING AND GATES	LF	4,116	\$25.00	\$102,900.00	\$15.00	\$61,740.00	\$16.85	\$69,354.60	\$20.00	\$82,320.00	\$19.00	\$78,204.00	\$20.00	\$82,320.00	\$17.00	\$69,972.00	\$33.00	\$135,828.00	\$17.55	\$72,235.80	\$16.00	\$65,856.00
20	440-2	PVC LANDSCAPE IRRIGATION SLEEVE	EA	35	\$300.00	\$10,500.00	\$300.00	\$10,500.00	\$37.00	\$1,295.00	\$175.00	\$6,125.00	\$216.00	\$7,560.00	\$30.90	\$1,081.50	\$100.00	\$3,500.00	\$0.00	\$0.00	\$185.62	\$6,496.70	\$180.00	\$6,300.00
21	440-3	ELECTRICAL SERVICE	LS	1	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$625.00	\$625.00	\$5,680.00	\$5,680.00	\$7,400.00	\$7,400.00	\$8,300.00	\$8,300.00	\$1,160.11	\$1,160.11	\$5,600.00	\$5,600.00
22	505-1	REINFORCED CONCRETE LOW-FLOW CHANNEL / DEBRIS BASIN	LF	1,581	\$140.00	\$221,340.00	\$115.00	\$181,815.00	\$128.00	\$202,368.00	\$120.00	\$189,720.00	\$126.00	\$199,206.00	\$148.00	\$233,988.00	\$142.00	\$224,502.00	\$215.00	\$339,915.00	\$125.35	\$198,178.35	\$125.00	\$197,625.00
23	505-2	REINFORCED CONCRETE LOW-FLOW CHANNEL TRANSITION AT BASIN OUTLET	LS	1	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$9,000.00	\$9,000.00	\$12,000.00	\$12,000.00	\$6,914.00	\$6,914.00	\$5,360.00	\$5,360.00	\$4,800.00	\$4,800.00	\$8,750.00	\$8,750.00	\$4,495.60	\$4,495.60	\$7,500.00	\$7,500.00
24	505-3	REINFORCED CONCRETE LOW-FLOW CHANNEL / DEBRIS BASIN ACCESS RAMP	EA	3	\$7,000.00	\$21,000.00	\$6,000.00	\$18,000.00	\$12,000.00	\$36,000.00	\$20,000.00	\$60,000.00	\$7,767.00	\$23,301.00	\$7,900.00	\$23,700.00	\$4,400.00	\$13,200.00	\$8,600.00	\$25,800.00	\$4,106.82	\$12,320.46	\$8,400.00	\$25,200.00
25	505-4	REINFORCED CONCRETE HEADWALL, WINGWALLS, APRON AND TRENCH DRAIN AT BASIN OUTLET	LS	1	\$20,000.00	\$20,000.00	\$22,000.00	\$22,000.00	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00	\$27,378.00	\$27,378.00	\$37,800.00	\$37,800.00	\$26,100.00	\$26,100.00	\$56,100.00	\$56,100.00	\$20,594.03	\$20,594.03	\$22,000.00	\$22,000.00
26	505-5	REINFORCED CONCRETE DEBRIS BASIN REMOVABLE SILL	LS	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$1,920.00	\$1,920.00	\$1,700.00	\$1,700.00	\$3,100.00	\$3,100.00	\$1,570.26	\$1,570.26	\$5,600.00	\$5,600.00
27	505-6	REINFORCED CONCRETE MAINTENANCE RAMP	SF	9,107	\$14.00	\$127,498.00	\$9.00	\$81,963.00	\$9.00	\$81,963.00	\$12.00	\$109,284.00	\$11.00	\$100,177.00	\$11.00	\$100,177.00	\$10.00	\$91,070.00	\$13.00	\$118,391.00	\$9.04	\$82,327.28	\$10.00	\$91,070.00
28	505-7	STORM DRAIN MANHOLE PER COP P1560 & MAG STD DET 522	EA	1	\$6,000.00	\$6,000.00	\$11,000.00	\$11,000.00	\$7,000.00	\$7,000.00	\$8,000.00	\$8,000.00	\$12,531.00	\$12,531.00	\$8,800.00	\$8,800.00	\$9,300.00	\$9,300.00	\$14,600.00	\$14,600.00	\$9,744.91	\$9,744.91	\$11,000.00	\$11,000.00
29	505-8	MODIFIED MAG STD DET 501-1 STRAIGHT TYPE HEADWALL	LS	1	\$2,500.00	\$2,500.00	\$4,100.00	\$4,100.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$5,403.00	\$5,403.00	\$3,500.00	\$3,500.00	\$3,900.00	\$3,900.00	\$7,150.00	\$7,150.00	\$1,997.45	\$1,997.45	\$2,800.00	\$2,800.00
30	505-9	MODIFIED MAG STD DET 501-1 'L' TYPE HEADWALL	LS	1	\$6,000.00	\$6,000.00	\$4,500.00	\$4,500.00	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00	\$6,312.00	\$6,312.00	\$4,200.00	\$4,200.00	\$7,300.00	\$7,300.00	\$11,400.00	\$11,400.00	\$3,364.54	\$3,364.54	\$3,500.00	\$3,500.00
31	505-10	MODIFIED ADOT C-15.80 CATCH BASIN (SINGLE), APRON AND RAISED GRATE	LS	1	\$3,500.00	\$3,500.00	\$5,400.00	\$5,400.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$6,070.00	\$6,070.00	\$4,475.00	\$4,475.00	\$4,000.00	\$4,000.00	\$8,400.00	\$8,400.00	\$3,159.58	\$3,159.58	\$3,600.00	\$3,600.00
32	505-11	MODIFIED ADOT C-15.80 CATCH BASIN (DOUBLE), APRON AND RAISED GRATE	LS	1	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$6,775.00	\$6,775.00	\$5,225.00	\$5,225.00	\$5,000.00	\$5,000.00	\$8,750.00	\$8,750.00	\$4,268.69	\$4,268.69	\$4,200.00	\$4,200.00
33	505-12	MODIFIED ADOT C-15.80 CATCH BASIN (3-DOUBLE), APRON AND RAISED GRATE	LS	1	\$12,000.00	\$12,000.00	\$7,500.00	\$7,500.00	\$7,000.00	\$7,000.00	\$12,000.00	\$12,000.00	\$8,752.00	\$8,752.00	\$7,200.00	\$7,200.00	\$7,000.00	\$7,000.00	\$15,300.00	\$15,300.00	\$5,872.12	\$5,872.12	\$5,700.00	\$5,700.00
34	505-13	24-INCH CONCRETE END SECTION PER MAG STD DET 545	EA	4	\$600.00	\$2,400.00	\$1,600.00	\$6,400.00	\$1,200.00	\$4,800.00	\$1,500.00	\$6,000.00	\$2,888.00	\$11,552.00	\$1,135.00	\$4,540.00	\$1,100.00	\$4,400.00	\$1,550.00	\$6,200.00	\$1,624.15	\$6,496.60	\$1,600.00	\$6,400.00
35	505-14	PRIVATE IRRIGATION PLUG	EA	30	\$500.00	\$15,000.00	\$500.00	\$15,000.00	\$1,000.00	\$30,000.00	\$500.00	\$15,000.00	\$102.00	\$3,060.00	\$52.00	\$1,560.00	\$800.00	\$24,000.00	\$135.00	\$4,050.00	\$928.09	\$27,842.70	\$295.00	\$8,850.00
36	515-1	TRASH RACK WITH ACCESS HATCH AT BASIN OUTLET HEADWALL	LS	1	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$16,000.00	\$16,000.00	\$10,000.00	\$10,000.00	\$9,451.00	\$9,451.00	\$10,6									

FINAL BID RESULTS

Item No.	MAG No.	Description	Unit	Quantity	Engineers Unit Price	Total	Buesing Unit Price	Total	Ames Unit Price	Total	Combs Unit Price	Total	Tiffany Unit Price	Total	Blucor Unit Price	Total	Redpoint Unit Price	Total	Blount Unit Price	Total	Low Mountain Unit Price	Total	Kirkland Unit Price	Total
43	-	Shrubs 1 Gallon	EA	849	\$10.00	\$8,490.00	\$6.50	\$5,518.50	\$9.00	\$7,641.00	\$10.00	\$8,490.00	\$17.00	\$14,433.00	\$5.20	\$4,414.80	\$8.00	\$6,792.00	\$11.00	\$9,339.00	\$8.12	\$6,893.88	\$8.00	\$6,792.00
44	-	Shrubs 3 Gallon	EA	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$21.00	\$0.00
45	-	Shrubs 5 Gallon	EA	792	\$20.00	\$15,840.00	\$17.00	\$13,464.00	\$22.00	\$17,424.00	\$20.00	\$15,840.00	\$39.50	\$31,284.00	\$16.25	\$12,870.00	\$19.00	\$15,048.00	\$20.50	\$16,236.00	\$19.72	\$15,618.24	\$22.00	\$17,424.00
46	-	Trees 24" Box	EA	153	\$250.00	\$38,250.00	\$190.00	\$29,070.00	\$290.00	\$44,370.00	\$300.00	\$45,900.00	\$393.00	\$60,129.00	\$117.00	\$17,901.00	\$200.00	\$30,600.00	\$280.00	\$42,840.00	\$261.02	\$39,936.06	\$252.00	\$38,556.00
47	-	Trees 36" Box	EA	79	\$750.00	\$59,250.00	\$450.00	\$35,550.00	\$650.00	\$51,350.00	\$600.00	\$47,400.00	\$921.00	\$72,759.00	\$507.00	\$40,053.00	\$500.00	\$39,500.00	\$655.00	\$51,745.00	\$585.85	\$46,282.15	\$565.00	\$44,635.00
48	-	Tall Pot Trees	EA	236	\$70.00	\$16,520.00	\$7.50	\$1,770.00	\$100.00	\$23,600.00	\$100.00	\$23,600.00	\$103.50	\$24,426.00	\$91.00	\$21,476.00	\$19.00	\$4,484.00	\$99.50	\$23,482.00	\$90.49	\$21,355.64	\$88.00	\$20,768.00
49	-	Native Seed Mix / Hydroseed	AC	14	\$2,000.00	\$28,000.00	\$3,000.00	\$42,000.00	\$2,800.00	\$39,200.00	\$2,500.00	\$35,000.00	\$4,212.00	\$58,968.00	\$1,352.00	\$18,928.00	\$2,579.00	\$36,106.00	\$2,650.00	\$37,100.00	\$2,900.27	\$40,603.78	\$2,400.00	\$33,600.00
50	-	Tilling and Soil Preparation for Native Seed per Special Provisions	AC	14	\$500.00	\$7,000.00	\$1,100.00	\$15,400.00	\$860.00	\$12,040.00	\$900.00	\$12,600.00	\$1,533.00	\$21,462.00	\$871.00	\$12,194.00	\$493.00	\$6,902.00	\$910.00	\$12,740.00	\$348.03	\$4,872.42	\$450.00	\$6,300.00
51	-	DriWater - 5 per Tall Pot Plant at installation	EA	1,180	\$5.50	\$6,490.00	\$3.25	\$3,835.00	\$9.00	\$10,620.00	\$10.00	\$11,800.00	\$5.00	\$5,900.00	\$1.30	\$1,534.00	\$4.00	\$4,720.00	\$8.50	\$10,030.00	\$8.12	\$9,581.60	\$8.00	\$9,440.00
52	-	DriWater - 4 per Tall Pot Plant @ 30 & 60 days post install	EA	1,888	\$5.50	\$10,384.00	\$4.25	\$8,024.00	\$9.00	\$16,992.00	\$10.00	\$18,880.00	\$8.00	\$15,104.00	\$7.80	\$14,726.40	\$5.00	\$9,440.00	\$7.10	\$13,404.80	\$8.12	\$15,330.56	\$8.00	\$15,104.00
53	-	Plant Establishment Guarantee and Maintenance	MO	6	\$4,000.00	\$24,000.00	\$2,000.00	\$12,000.00	\$1,250.00	\$7,500.00	\$1,500.00	\$9,000.00	\$5,914.00	\$35,484.00	\$3,640.00	\$21,840.00	\$1,878.00	\$11,268.00	\$1,350.00	\$8,100.00	\$1,160.11	\$6,960.66	\$1,200.00	\$7,200.00
54	-	36 Station Controller to Include Stainless Steel Pedestal,all Trenching, Two Wire Paige Communication cables, wire to weather station, Lightning Arrestors and Grounding Rods (5/8" diam x8' Copper), Water Proof Wire Nuts, Conduit, and Power Company Coordination, two wire module for pedestal mount. Installation shall be complete, tested, and verified for operation per manufacturer's recommended procedures prior to punch list preparation.	EA	1	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00	\$11,000.00	\$11,000.00	\$15,000.00	\$15,000.00	\$10,342.00	\$10,342.00	\$18,460.00	\$18,460.00	\$12,400.00	\$12,400.00	\$9,850.00	\$9,850.00	\$9,860.92	\$9,860.92	\$9,500.00	\$9,500.00
55	-	Two-Wire Control System Decoders 1 per valve	EA	36	\$150.00	\$5,400.00	\$130.00	\$4,680.00	\$200.00	\$7,200.00	\$250.00	\$9,000.00	\$331.00	\$11,916.00	\$546.00	\$19,656.00	\$200.00	\$7,200.00	\$235.00	\$8,460.00	\$174.02	\$6,264.72	\$170.00	\$6,120.00
56	-	Weather Station-Complete Installed with footings, Fittings, Panels, Communications Items and Hardware per	EA	1	\$7,000.00	\$7,000.00	\$5,500.00	\$5,500.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$11,736.00	\$11,736.00	\$19,760.00	\$19,760.00	\$6,300.00	\$6,300.00	\$9,400.00	\$9,400.00	\$7,076.66	\$7,076.66	\$6,900.00	\$6,900.00
57	-	2" Master Valve and Box-Complete with wiring, manufacturer installed Schrader valve, supports, fittings, pea gravel and stainless steel hardware, testing and coordination with controller system.	EA	2	\$350.00	\$700.00	\$700.00	\$1,400.00	\$1,600.00	\$3,200.00	\$1,500.00	\$3,000.00	\$1,206.00	\$2,412.00	\$1,440.00	\$2,880.00	\$800.00	\$1,600.00	\$2,400.00	\$4,800.00	\$1,421.13	\$2,842.26	\$1,400.00	\$2,800.00
58	-	2" Flow Sensor and Box-Complete with wiring, supports, pea gravel and stainless steel hardware, Sch 80 Fittings	EA	2	\$225.00	\$450.00	\$850.00	\$1,700.00	\$2,000.00	\$4,000.00	\$1,800.00	\$3,600.00	\$1,237.50	\$2,475.00	\$2,004.60	\$4,009.20	\$1,000.00	\$2,000.00	\$2,050.00	\$4,100.00	\$1,798.17	\$3,596.34	\$1,700.00	\$3,400.00
59	-	2" Reduced Pressure Backflow Prevention Unit and Cage w/Desert Brown Powder Coat , Type K Copper Connection.	EA	2	\$5,000.00	\$10,000.00	\$2,000.00	\$4,000.00	\$4,000.00	\$8,000.00	\$4,000.00	\$8,000.00	\$3,555.00	\$7,110.00	\$4,656.60	\$9,313.20	\$2,400.00	\$4,800.00	\$2,850.00	\$5,700.00	\$3,828.36	\$7,656.72	\$3,700.00	\$7,400.00
60	-	2 1/2" Sch 80 PVC Mainline	LF	400	\$8.00	\$3,200.00	\$3.50	\$1,400.00	\$8.00	\$3,200.00	\$8.00	\$3,200.00	\$6.03	\$2,412.00	\$9.88	\$3,952.00	\$4.00	\$1,600.00	\$7.90	\$3,160.00	\$6.96	\$2,784.00	\$7.00	\$2,800.00
61	-	2" Sch 80 PVC Mainline	LF	4,400	\$7.00	\$30,800.00	\$2.75	\$12,100.00	\$6.50	\$28,600.00	\$8.00	\$35,200.00	\$4.57	\$20,108.00	\$5.56	\$24,464.00	\$3.00	\$13,200.00	\$5.00	\$22,000.00	\$5.80	\$25,520.00	\$5.75	\$25,300.00
62	-	2-1/2" Brass Mainline Gate Valve and 10" Round Box, PVC Sleeve, Pea Gravel and Hardware w/3" Valve Key	EA	1	\$300.00	\$300.00	\$425.00	\$425.00	\$300.00	\$300.00	\$225.00	\$225.00	\$778.00	\$778.00	\$273.00	\$273.00	\$500.00	\$500.00	\$960.00	\$960.00	\$237.82	\$237.82	\$230.00	\$230.00
63	-	2" Brass Mainline Gate Valve And 10" Round Box, PVC Sleeve, Pea Gravel and Hardware w/3" Valve Key	EA	8	\$250.00	\$2,000.00	\$300.00	\$2,400.00	\$200.00	\$1,600.00	\$200.00	\$1,600.00	\$434.00	\$3,472.00	\$169.00	\$1,352.00	\$400.00	\$3,200.00	\$615.00	\$4,920.00	\$179.82	\$1,438.56	\$174.00	\$1,392.00
64	-	1" Remote Control Valve -Complete with wiring, box, supports, pea gravel,filter fabric, and stainless steel	EA	16	\$220.00	\$3,520.00	\$180.00	\$2,880.00	\$400.00	\$6,400.00	\$400.00	\$6,400.00	\$342.25	\$5,476.00	\$418.60	\$6,697.60	\$200.00	\$3,200.00	\$585.00	\$9,360.00	\$371.23	\$5,939.68	\$360.00	\$5,760.00
65	-	Pressure Regulator-Complete installed and tested	EA	16	\$100.00	\$1,600.00	\$10.00	\$160.00	\$30.00	\$480.00	\$25.00	\$400.00	\$27.50	\$440.00	\$18.20	\$291.20	\$13.00	\$208.00	\$60.00	\$960.00	\$24.36	\$389.76	\$24.00	\$384.00
66	-	Wye Strainer w/200 Stainless Steel Mesh	EA	16	\$75.00	\$1,200.00	\$18.00	\$288.00	\$34.00	\$544.00	\$30.00	\$480.00	\$43.00	\$688.00	\$36.40	\$582.40	\$21.00	\$336.00	\$71.50	\$1,144.00	\$30.16	\$482.56	\$30.00	\$480.00
67	-	1" Brass Isolation and Box complete installed and tested	EA	16	\$60.00	\$960.00	\$120.00	\$1,920.00	\$190.00	\$3,040.00	\$200.00	\$3,200.00	\$302.00	\$4,832.00	\$156.00	\$2,496.00	\$100.00	\$1,600.00	\$195.00	\$3,120.00	\$168.22	\$2,691.52	\$165.00	\$2,640.00
68	-	1 1/2" Remote Control Valve -Complete with wiring, box, supports, pea gravel,filter fabric, and stainless steel	EA	20	\$300.00	\$6,000.00	\$200.00	\$4,000.00	\$470.00	\$9,400.00	\$400.00	\$8,000.00	\$321.00	\$6,420.00	\$507.00	\$10,140.00	\$200.00	\$4,000.00	\$580.00	\$11,600.00	\$423.44	\$8,468.80	\$410.00	\$8,200.00
69	-	1-1/2" Brass Isolation Valve and Box complete installed and tested	EA	20	\$75.00	\$1,500.00	\$175.00	\$3,500.00	\$350.00	\$7,000.00	\$300.00	\$6,000.00	\$400.00	\$8,000.00	\$358.80	\$7,176.00	\$200.00	\$4,000.00	\$575.00	\$11,500.00	\$308.59	\$6,171.80	\$300.00	\$6,000.00
70	-	1/2" SDR 315 PVC Pipe (extensions to emitters)	LF	1,500	\$1.00	\$1,500.00	\$0.75	\$1,125.00	\$1.60	\$2,400.00	\$1.50	\$2,250.00	\$1.39	\$2,085.00	\$0.33	\$495.00	\$1.00	\$1,500.00	\$2.80	\$4,200.00	\$1.39	\$2,085.00	\$1.35	\$2,025.00
71	-	3/4" Sch 40 PVC Irrigation Pipe For (tree and shrub dripline-add turf systems)	LF	24,900	\$1.85	\$46,065.00	\$1.20	\$29,880.00	\$1.80	\$44,820.00	\$1.75	\$43,575.00	\$1.72	\$42,828.00	\$0.39	\$9,711.00	\$1.00	\$24,900.00	\$2.30	\$57,270.00	\$1.62	\$40,338.00	\$1.60	\$39,840.00
72	-	1" Schedule 40 PVC Pipe	LF	8,500	\$2.10	\$17,850.00	\$1.40	\$11,900.00	\$2.20	\$18,700.00	\$2.00	\$17,000.00	\$1.83	\$15,555.00	\$0.91	\$7,735.00	\$2.00	\$17,000.00	\$2.40	\$20,400.00	\$1.91	\$16,235.00	\$1.85	\$15,725.00
73	-	1-1/4" Schedule 40 PVC Pipe	LF	1,400	\$2.20	\$3,080.00	\$1.60	\$2,240.00	\$2.25	\$3,150.00	\$2.00	\$2,800.00	\$2.04	\$2,856.00	\$0.98	\$1,372.00	\$2.00	\$2,800.00	\$2.50	\$3,500.00	\$2.03	\$2,842.00	\$1.95	\$2,730.00
74	-	1-1/2" Schedule 40 PVC Pipe	LF	1,400	\$2.40	\$3,360.00	\$1.70	\$2,380.00	\$2.60	\$3,640.00	\$2.25	\$3,150.00	\$2.16	\$3,024.00	\$1.63	\$2,282.00	\$2.00	\$2,800.00	\$2.60	\$3,640.00	\$2.32	\$3,248.00	\$2.25	\$3,150.00
75	-	2" Schedule 40 PVC Pipe	LF	1,780	\$2.60	\$4,628.00	\$1.90	\$3,382.00	\$2.80	\$4,984.00	\$2.25	\$4,005.00	\$2.60	\$4,628.00	\$2.08	\$3,702.40	\$2.00	\$3,560.00	\$2.80	\$4,984.00	\$2.44	\$4,343.20	\$2.35	\$4,183.00
76	-	2-1/2" Schedule 40 PVC Pipe	LF	500	\$2.75	\$1,375.00	\$2.80	\$1,400.00	\$3.90	\$1,950.00	\$3.25	\$1,625.00	\$3.64	\$1,820.00	\$3.77	\$1,885.00	\$3.00	\$1,500.00	\$3.90	\$1,950.00	\$3.48	\$1,740.00	\$3.50	\$1,750.00
77	-	Flush Cap And 10" Round Box	EA	50	\$100.00	\$5,000.00	\$32.00	\$1,600.00	\$45.00	\$2,250.00	\$45.00	\$2,250.00	\$57.00	\$2,850.00	\$44.20	\$2,210.00	\$36.00	\$1,800.00	\$57.00	\$2,850.00	\$40.60	\$2,030.00	\$40.00	\$2,000.00
78	-	Pull Box and Wire Splice, 10" Round Box	EA	20	\$100.00	\$2,000.00	\$35.00	\$700.00	\$45.00	\$900.00	\$45.00	\$900.00	\$48.00	\$960.00	\$44.20	\$884.00	\$39.00	\$780.00	\$63.00	\$1,260.00	\$40.60	\$812.00	\$41.00	\$820.00
79	-	Multi-Port Emitter (2.0 gph per port) and Riser Assembly w/ Bug Cap(Shrubs) 1 port per Shrub (6 Ports Open)	EA	274	\$20.00	\$5,480.00	\$15.00	\$4,110.00	\$20.00	\$5,480.00	\$20.00	\$5,480.00	\$25.50	\$6,987.00	\$1.43	\$391.82	\$17.00	\$4,658.00	\$17.00	\$4,658.00	\$17.40	\$4,767.60	\$17.00	\$4,658.00

FINAL BID RESULTS

Item No.	MAG No.	Description	Unit	Quantity	Engineers Unit Price	Total	Buesing Unit Price	Total	Ames Unit Price	Total	Combs Unit Price	Total	Tiffany Unit Price	Total	Blucor Unit Price	Total	Redpoint Unit Price	Total	Blount Unit Price	Total	Low Mountain Unit Price	Total	Kirkland Unit Price	Total
80	-	Multi-Port Emitter (2.0 gph per port) and PVC Riser Assembly w/Bug Caps- 6 open ports per tree	EA	232	\$20.00	\$4,640.00	\$14.00	\$3,248.00	\$21.00	\$4,872.00	\$20.00	\$4,640.00	\$25.50	\$5,916.00	\$1.56	\$361.92	\$16.00	\$3,712.00	\$19.50	\$4,524.00	\$18.56	\$4,305.92	\$18.00	\$4,176.00
81	-	Rotor Sprays 40' Radius (adjustable) w/6" Pop Up-4 gpm	EA	110	\$100.00	\$11,000.00	\$46.00	\$5,060.00	\$100.00	\$11,000.00	\$85.00	\$9,350.00	\$84.50	\$9,295.00	\$54.60	\$6,006.00	\$52.00	\$5,720.00	\$65.50	\$7,205.00	\$87.01	\$9,571.10	\$84.00	\$9,240.00
82	-	Rotor Sprays 18' Radius (adjustable) Low Angle Trajectory w/6" Pop Up-2 gpm	EA	157	\$40.00	\$6,280.00	\$46.00	\$7,222.00	\$100.00	\$15,700.00	\$85.00	\$13,345.00	\$83.00	\$13,031.00	\$54.60	\$8,572.20	\$53.00	\$8,321.00	\$65.50	\$10,283.50	\$87.01	\$13,660.57	\$84.00	\$13,188.00
83	-	3" Schedule 40 PVC Irrigation Sleeve	LF	1,800	\$8.00	\$14,400.00	\$4.00	\$7,200.00	\$4.00	\$7,200.00	\$4.00	\$7,200.00	\$6.02	\$10,836.00	\$39.00	\$70,200.00	\$4.00	\$7,200.00	\$4.30	\$7,740.00	\$3.60	\$6,480.00	\$3.50	\$6,300.00
84	-	4" Schedule 40 PVC Irrigation Sleeve	LF	500	\$10.00	\$5,000.00	\$4.75	\$2,375.00	\$6.00	\$3,000.00	\$5.00	\$2,500.00	\$6.85	\$3,425.00	\$13.00	\$6,500.00	\$5.00	\$2,500.00	\$5.60	\$2,800.00	\$4.76	\$2,380.00	\$4.75	\$2,375.00
85	-	6" Schedule 40 PVC Irrigation Sleeve	LF	250	\$12.00	\$3,000.00	\$6.00	\$1,500.00	\$8.00	\$2,000.00	\$8.00	\$2,000.00	\$12.00	\$3,000.00	\$23.40	\$5,850.00	\$7.00	\$1,750.00	\$7.70	\$1,925.00	\$7.54	\$1,885.00	\$7.50	\$1,875.00
BASE BID TOTAL						\$4,957,360.00	\$4,462,454.70		\$4,515,024.10		\$5,192,884.15		\$5,775,603.35		\$5,849,999.20		\$6,169,545.25		\$6,252,180.00		\$6,532,999.30		\$7,621,714.25	